STH6E2A DERFEIK:

B x5 BE (%) | JE (hp) Z.a (°C) _ ;8 (°C) K= (mm) S = (om) BEE (cm)
FRIOKF | FRIOHK | FRIOK | &8 X =) =K 50cm 1m AH RiE AH RiE BB

1 {HY 93 928 2.2 -2.1 8.0 -3.7 - — - — 0.0 0.0 70.0

2 B 86 928 -7.2 -10.5 2.4 -11.3 - — - — 0.0 0.0 70.0

3 = 79 930 -1.2 -5.3 0.1 -7.2 - — - — 0.0 0.0 70.0

4 {£Y 90 930 -5.1 -6.6 1.1 -7.3 - — - — 0.0 00] 630

5 {£Y 87 929 -2.6 -6.5 2.7 -7.3 - — - — 0.0 00] 60.0

6 = 96 927 -1.1 -2.8 -0.8 -3.7 - — - — 30.0 3001 900

7 Eh 91 926 -5.2 -7.3 2.0 -9.8 - — - — 0.0 300] 800

8 Fh 88 925 -0.4 -1.7 1.9 -5.2 - — - — 5.0 350] 80.0

9 {£Y 87 924 -1.1 -15 3.2 -3.9 - — - — 0.0 3501 80.0

10 Eh 93 924 -8.1 -4.0 3.3 -11.1 - - - - 0.0 3501 750
LEFEHE 89.0 927.1 -3.0 -4.8 2.4 —7.1 - - - - 35 73.8
11 = 99 924 1.7 -0.5 5.8 -9.0 - — — — 28.0 63.0] 850
12 Bh 97 925 -5.6 -43 14 -6.2 — — — — 0.0 63.0 75.0
13 R 88 928 -8.2 —6.2 1.8 -12.7 - — - — 0.0 630] 750
14 Ehn 90 930 0.6 -3.1 8.8 -12.1 - — - — 0.0 63.0] 750
15 Fh 97 930 1.1 0.4 10.6 -25 - — - — 0.0 630] 600
16 Ehn 75 922 -0.8 -1.3 13.3 -1.9 - — - — 0.0 63.0] 50.0
17 R 93 924 -2.9 -4.3 1.1 -7.7 - — - — 0.0 630] 520
18 B 97 928 -2.1 -0.6 9.3 -5.1 - — - — 0.0 63.0] 50.0
19 {$Y 99 930 2.4 1.2 12.2 -1.3 - - - - 0.0 630] 500
20 <Y 99 928 3.3 2.7 12.9 1.0 - - - - 0.0 63.0] 420
haEHiE 93.4 926.9 -1.4 -1.6 7.7 -5.8 - — - — 2.8 61.4
21 <EY 99 930 0.6 2.2 7.6 0.1 - — - — 0.0 00 400
22 F 99 926 -25 -25 43 2.9 - - - - 5.0 50| 400
23 E 97 928 -2.7 -2.6 0.5 -2.9 - — - — 8.0 130] 45.0
24 Eh 94 928 -5.1 -2.7 0.0 -8.7 - - - - 0.0 130] 420
25 <Y 88 930 -1.0 -3.7 2.4 -8.1 - — - — 0.0 130] 420
26 Eh 96 928 -0.3 -1.9 4.2 -2.4 - - - - 5.0 180] 450
27 S 99 926 -3.2 -2.2 2.5 -4.0 - — - — 8.0 260] 450
28 <Y 82 926 -0.3 -1.1 0.3 -3.6 - — - — 2.0 280] 450
29 B 87 928 -2.9 -1.3 1.7 -7.4 0.0 2801 400
THaEHIE 93.4 927.8 -1.9 -1.8 2.6 -3.8 RERE XKEFKE | KFRE RERE 3.1 42.7
A¥EH 91.9 927.2 -2.1 -2.8 43 -5.6 KFE | KFKE | RKFKE | XFRE 3.1 59.9
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